KENDRIYA VIDYALAYA RAMESWARAM
WINTER BREAK HOMEWORK FOR THE SESSION 2023-24
CLASS: IX

ENGLISH

. Write the table of tenses in your homework note.

. Make a learner’s diary for the lessons completed till December 2023.

. Write a diary entry about how you enjoyed the celebration of your birthday last week when several
friends and relatives made the occasion lively and memorable. (150 words)

. You feel concern about the wastage of food on the occasions of our marriages and other
ceremonies. Write a letter to the editor of newspaper about it in 100-120 words.

. Read and prepare all chapters of that you are taught. Do exercise of Grammar based on tense,
reported speech. Revise all the chapters thoroughly.

. Make a mind map for the following lessons: Last Leaf, My Childhood, A House is not a Home.

Note: All the written work must be written in your homework note.

SCIENCE

1. write important definition and word meaning from the chapter tissues and work and energy.
2. prepare a project file from the chapter natural resources.
3. write about 10 elements that are used in your daily life with example.

MATHEMATICS
1. CIRCLES

If arcs AXB and CYD of a circle are congruent, find the ratio of AB and CD.

If the perpendicular bisector of a chord AB of a circle PXAQBY intersects the
circle at P and Q, prove that arc PXA = Arc PYB.

A, B and C are three points on a circle. Prove that the perpendicular bisectors of
AB, BC and CA are concurrent.

AB and AC are two equal chords of a circle. Prove that the bisector of the angle
BAC passes through the centre of the circle.

[f a line segment joining mid-points of two chords of a circle passes through the
centre of the circle, prove that the two chords are parallel.

ABCD is such a quadrilateral that A 1s the centre of the circle passing through B,
C and D. Prove that

l
£CBD + ZCDB = 7 ZBAD




2.HERONS FORMULA

1 Find the costof laying grass in a triangular field of sides 50 m, 65 m and 65 m at the
rate of Rs 7 per m’.

2 The triangular side walls of a flyover have been used for advertisements. The sides of
the walls are 13 m, 14 mand 15 m. The advertisements yield an earning of Rs 2000 per
m’ a year. A company hired one of its walls for 6 months. How much rent did it pay?
From a point in the interior of an equilateral triangle, perpendiculars are drawn on
the three sides. The lengths of the perpendiculars are 14 cm, 10 cm and 6 cm. Find
the area of the triangle.

4 The perimeter of an isosceles triangle is 32 cm. The ratio of the equal side to its
base 1s 3 : 2. Find the area of the triangle.

3. SURFACE AREA AND VOLUME

Metal spheres, each of radius 2 cm, are packed into a rectangular box of internal
dimensions 16 cm x 8 cm x 8 cm. When 16 spheres are packed the box is filled
with preservative liquid. Find the volume of this liquid. Give your answer to the

nearest integer. [Usen=3.14]

A storage tank is in the form of a cube. When it is full of water, the volume of
water is 15.625 m*.If the present depth of water is 1.3 m, find the volume of water
already used from the tank.

Find the amount of water displaced by a solid spherical ball of diameter 4.2 cm,
when it is completely immersed in water.

4. How many square metres of canvas is required for a conical tent whose height is
3.5 m and the radius of the base is 12 m?

SOCIAL SCIENCE
1. Discuss the major reasons for poverty in India?

2. On an outline map of India, show the following:

(1) Area receiving rainfall over 400 cm

(IT) Area receiving less than 20 cm of rainfall.

3. On an outline map of the world locate and label the following major countries of First World War
e Central Powers Allied Powers

4. Complete exercise questions and answers of all taught chapters

5. Distinguish between the following;

(I) Lok Sabha and the Rajya Sabha.

(IT) Political Executive and Permanent Executive
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